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SCIENCE CLASS

1. What is the coldest temperature
possible? Also known as ‘absolute

zero’

DUE DATE
TEACHER

2. What name is given to the change
of state from a solid directly to a
gas, skipping the liquid phase?

Combined Sciences: Physics Homework/Extension Sheet T14.1

3. Anovenisat 73 °C.
Calculate this temperature in Kelvin.

[] A:0°C [ ] A:Sublimation [ ] A:200K
[ ] B:-100°C [ ] B:Boiling [ ] B:-200K
[] c:-273°C [ ] €: Condensing [] c:346K
[ ] p:-293°C [ ] D: Depressurisation [[] p:173K
4. The photograph shows a weather balloon filled with helium. r' - 1

When released the balloon rises rapidly to a height of 30 000 m above the

Earth. Explain how the helium gas exerts a pressure on the balloon.

Any amount of
stationary particles

(e) is at absolute zero

A small amount of

(b) Has a temperature of 333 K

(c) Is storing the most energy

5. The diagrams below show samples of the element argon under different conditions.
A B C D E
2713°C 20°C 60°C

N
4
o

A large amount of

slow particles slow particles

State the letters of every sample that matches the descriptions below:

(a) Has the highest temperature

(d) Particles are experiencing the strongest forces of attraction to each other

A small amount of
fast particles

A large amount of
fast particles
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